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BEANRE SFI5EEHFIF R LR ST P SIEE

£ g R - BAKTiE Bifg H =2 B & 8 wm =
EEAEE 5,007, 115
MSIFEER 5,007, 115
MSIEEER 5,007, 115
WMSiFEE 4,897,115
BEEE 559, 584
1 FEERE 1.00 559, 584 559, 584
=
WMSiFEE 3,051, 766
2 #fE - BE 1.00 804, 798 804, 798
#H
3 HSRIEFEE1 —RIFE_FEUER 13.00 33,789 439, 257
km
4 BSiEE2 BEZEE 1)~ 6)_firtnEs 50. 80 33,789 1,716, 481
km
b BSIFES3 HRIEE_£K 2.70 33,789 91, 230
km
fRAT 1,168, 365
6 EHAEMT 35.90 32, 545 1,168, 365
km
& - e 117, 400
1 BRTRE 1.00 58, 700 58, 700
]
8 | E 1.00 58, 700 58, 700
]
EERE 110, 000
BR 68, 000
9 EERERER 1.00 68, 000 68, 000
=
Z Dt 42,000
10 ETEHRAETE EZAYVIRE 1.00 42,000 42,000
=




DHSFEEH I LS 5T HEITE

% g - KSR B 2 fiff & & w E
EERAEE 2,705, 782
ERE 2,705,782 x 76.1% — 4,882 2,054, 218
HEERE 2,705,782 + 2,054,218 4,760, 000
E R 2,233,333 + 68,000 2,301,333
EEAGE 2,233,333
EEREE 68, 000
T DAt i 2,233,333 x 53.85% ( 35% = (1 — 35%) ) 1,202, 649
EHRE 2,301,333 + 1,202,649 3,503, 982
—REERS 3,503,982 x 53.85% (36% + (1 — 35%) ) — 876 1,886,018
BHES 3,503,982 + 1,886,018 5,390, 000
KB 4,760,000 + 5,390, 000 10, 150, 000
HBETEMALE 10,150,000 x 10.00% 1,015,000
HIBEEXB (IR EH 10, 150,000 + 1,015, 000 11,165, 000
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SHSEEHFIRH LHOS5(THHKERE

=1
2% - REER =1
£ 7 R - AT By = B Of € # %

HEnR

A 1.00 70, 900. 00 70, 900
FEHED (%5

A 2.50 62, 200. 00 155, 500
HEm (A)

A 2.50 55, 200. 00 138, 000
HER (B)

A 1.00 45, 300. 00 45, 300
A (C)

A 0.50 35, 600. 00 17, 800
BIEFEHED

A 1.00 51, 000. 00 51,000
B S HER

A 1.00 44,000. 00 44,000
B = H AR

A 1.00 34, 300. 00 34, 300
AR LY

% 0.50 556, 800. 00 2,784
= 5 1E%HeH - 1.00K 559, 584. 00 559, 584




Rifiz -/ \v7r—o

SHSEEHFIRH LHOS5(THHKERE

&S :2
B - EfE - B Ik ED)
£ 7 R - AT By = B Of € W E B &
REE S4 kY 2L
B 2.00 3,324.00 6,648 2.00H / 8H
WMSIEERAR HMERMEERIEEa L, HIE28. RS
B 1.00 23,925. 00 23,925
EIEE D 200PSEY
B 0.50 191, 224.00 95,612 6.00H / 8H
AEEMR FRP
B 1.50 58, 410. 00 87,615 8H
FEHED (%5
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.25 55, 200. 00 124, 200
HER (B)
A 1.75 45, 300. 00 79, 275
B S HER
A 1.00 44,000. 00 44,000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 3.00 32, 200. 00 96, 600
BIEHEE
A 3.00 217,000. 00 81,000
AR L NOY
% 5.00 766, 475. 00 38, 323
= 5 1YEZHEH - 1.0048 804, 798. 00 804, 798
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SHSEEHFIRH LHOS5(THHKERE

&S :3
B BREE1 —XEE_DHUER 1BHY (19.8km)
£ 7 R - AT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,324.00 3,324/2.00H / 8H
EIEE D 200PSEY
B 1.00 191, 224.00 191,224 6. 00H / 8H
AEEMR FRP
B 1.00 58, 410. 00 58,410 8H
WMSIEERR HMERMEERIZEEa L, HIE28. 8RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BRI 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55,200
HER (B)
A 1.00 45, 300. 00 45, 300
B S HER
A 2.00 44,000. 00 88, 000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
AR L NOY
% 2.00 655, 914. 00 13,118
= 5 1YE%RES 1 19.80km 33, 789. 00 669, 032




Rifiz -/ \v7r—o

SHSEEHFIRH LHOS5(THHKERE

£2 .4
£ BRiEE2 BEEREE0)~6) _F4aER 1TH%Y (19.8km)
£ i R - TR~k B {5 g B & 4 = " &=
REE SA4 kR 2L
=] 1.00 3,324.00 3,324/2. 00H / 8H
EHED D 200PSE!
=] 1.00 191, 224. 00 191,224 6. 00H / 8H
HELM FRP
=] 1.00 58, 410. 00 58,410 8H
MSIEERS MSIEEREED L. BIES. 2ES
=] 1.00 23, 925. 00 23,925
GNSSRIfI 3 & DGNSS
=] 1.00 25,575. 00 25,575
BRI 1AM®  100kHz
=] 1.00 9, 256. 50 9, 256
EAEHEM (GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEn (B)
A 1.00 45, 300. 00 45, 300
B S HER
A 2.00 44,000. 00 88, 000
RIS R
A 1.00 34,300. 00 34,300
BIEBNF
A 1.00 32,200. 00 32,200
BIEWEE
A 1.00 27,000. 00 27,000
MR =7 30Y)
% 2.00 655, 914. 00 13,118
A& F EEREH - 19.80k m 33, 789. 00 669, 032
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SHSEEHFIRH LHOS5(THHKERE

E =)
B MREES BREFEE_ 2K 1BHY (19.8km)
£ 7 R - AT By = B Of | W E B &
REE S4 kY 2L
B 1.00 3,324.00 3,324/2.00H / 8H
EIEE D 200PSEY
B 1.00 191, 224.00 191,224 6. 00H / 8H
AEEMR FRP
B 1.00 58, 410. 00 58,410 8H
WMSIEERR HMERMEERIZEEa L, HIE28. 8RS
B 1.00 23,925. 00 23,925
GNSS;BIf 2 & DGNSS
B 1.00 25,575. 00 25,575
BRI 1M  100kHz
B 1.00 9, 256. 50 9, 256
FEHED (55
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55,200
HER (B)
A 1.00 45, 300. 00 45, 300
B S HER
A 2.00 44,000. 00 88, 000
B = H AR
A 1.00 34, 300. 00 34, 300
BIEBF
A 1.00 32, 200. 00 32,200
BIEHEE
A 1.00 217,000. 00 217,000
AR L NOY
% 2.00 655, 914. 00 13,118
= 5 1YE%RES 1 19.80km 33, 789. 00 669, 032
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SHSEEHFIRH LHOS5(THHKERE

&S :6
B . BREF 100k m& Y
£ 7 R - BIRTiE BARL 2 B Of € # B &
FEHED (55
A 12.00 62, 200. 00 746, 400
HEm (A)
A 16. 00 55, 200. 00 883, 200
e (B)
A 16. 00 45, 300. 00 724, 800
B S HER
A 8.00 44,000. 00 352, 000
B = H AR
A 8.00 34, 300. 00 2174, 400
BIEBF
A 8.00 32, 200. 00 257, 600
AR L NOY
% 0.50 3, 238, 400. 00 16,192
= 5 YEZEREN : 100.00k m 32, 545. 00 3, 254, 592
&5 .17
2 . BATHE EED)
£ 7 R - BIRTiE BAGL 2 B Of € # # B &
FEHED (%5
A 0.50 62, 200. 00 31,100
HEn (A)
A 0.50 55, 200. 00 217,600
= it 1YEZHEH - 1.00[E 58, 700. 00 58, 700
%5 :8
B RBRBRE EED)
£ 7 R - BIRTE BAGL 2 B Of € # # B &
FEHED (55
A 0.50 62, 200. 00 31,100
HEn (A)
A 0.50 55, 200. 00 217,600
= it 1YEZHEH - 1.00[E 58, 700. 00 58, 700




REAR-ET/Avr—> SFN5EEHFIEH LN S( I IRAREE

HFES:9
B EBBERR XLy
£ 7 R - AT ==X B = B Of € W E s &
XBHRRRE
= 1.00 68, 000. 00 68, 000
= it 1E%Heh - 1.00K 68, 000. 00 68, 000
H5:10
&% BITIEHRAETE T-4UIRE 1KLY
£ 7 R - KT B B = B Of € # W E s &
EIRRAEE EZAYUTREE
= 1.00 42,000. 00 42,000
= it 1E%HeH 1,00 42,000. 00 42,000




